
Note: given the fact that you’re ‘obliged’ to answer the weekly questions, try to profit the most from the task:

- Start by reading the slides and writing them in your notebook.
- Looking at them as little as possible, answer the questions.

Please write WEEK  6 in bold at the beginning of your answers.

Week 6 – problems with monetary policy (MP)

1.Starting at FE and with inflation at the target, explain the typical response of MP to a decline in AD. Illustrate using two graphs: one with interest rates on the vertical axis and another with inflation on that axis.
2.a) Why has Japanese private investment remained persistently low since the early 1990s?
b) In spite of the persistent low level of private investment, Japan has remained roughly at FE. How was that achieved?

c) Are the EZ, the UK and the US facing a similar problem to that of Japan? Explain.

3. a) What happens to the level of private sector debts over economic expansions? Why?
b) What is the consequence of the use of MP at the end of expansions on the solvency of a significant number of households and businesses? Explain.
c) What’s the effect of that on credit supply and output?

4. a) Which sort of credit registered a especially strong increase in the US in 2002-6?

b) What led the Fed to raise interest rates in Jan 2005 – July 2006?
c) What were the effects of that increase in interest rates on the solvency of many households? Explain.

5. Explain the two ways through which the sharp increase in defaults in a localized sector of the economy led to the GR of 2008-9.
6. a) Explain the mechanism through which increases in CB interest rates may reduce inflation.
b) Explain why rate increases may instead increase inflation.
7. a) “MP makes the costs of some loans uncertain.” Do you agree? Explain.

b) What’s the advantage of getting a fixed rate loan instead of a variable rate one? And what’s the disadvantage?
c) In which way do the current changes in interest rates generated by MP have a negative effect on the purchase of houses and on business investment?

8. When the nominal interest rate is lower than inflation, borrowers benefit at the expense of savers. Why? Base your explanation on a numerical example.

9. Why do positive real interest rates necessarily penalize either workers or entrepreneurs or both?
10. Explain two reasons why positive real interest rates have a negative effect on business investment.

…
Notes:
1.Work implies effort and enterprise implies both effort and risk. Therefore, if those activities are not rewarded they are not carried out and production activity stops. By contrast, financial savings (in the form of deposits or bonds) are carried out even if they are not rewarded and even if their reward is negative (as has been the case in most advanced countries since the GR of 2008-9). Why? Because almost all financial savings when real rates are positive imply no effort, and all financial savings are effortless since real rates turned negative in late 2008. The consequence: (i) financial savings need not be rewarded; (ii) it is unfair to reward them.
2. In lecture 1 explained why banks do not need prior savings deposits in order to extend loans to investment projects.

In the next lecture, I’ll explain that the funding of investment projects (by firms or the government) through bond issues requires savings – but that these appear without any effort on the part of savers.  Therefore, they should not be rewarded.

…
11. “Positive real rates are unfair.” Do you agree? Explain.

12. a) “An increase in S can lead to an increase in U.”  Do you agree? Explain.

b) “An increase in S can lead to a decline in business I.”  Do you agree? Explain.
13. “Even if a too high saving rate has negative effects on the economy, it need not be discouraged through negative real rates.” Do you agree? Explain.

14. “Negative real interest rates are unfair”. Do you agree? Explain.

15. What is the fair level of interest rates?
1

